JENPAS (UG)-2024 404?%@%&73

 Paper-l (For all courses except BHA)

_ .. (Booklet Number)
Duration : 90 Minutes No. of MCQ : 100 _ Full Marks : 115
p :
| ' - INSTRUCTIONS o

1.  All questions are of objective type having four answer options for each.

2. Category-1: Carry 1 mark each and only one option is correct. In case of incorrect answer
or any combination of more than one answer, % mark will be deducted.

3. Category-2: Carry 2 marks each and one or more option(s) isfare correct. It all correct
answers are not marked and no incorrect answer is marked, then score = 2 X number of
correct answers marked + actual number of correct answers. If any wrong option is
marked or if any combination including a wrong option is marked, the answer will be
considered wrong, but there is no negative marking for the same and zero mark will be
awarded. .

4. Questions must be answered on OMR sheet by darkening the appropriate bubble marked
A B C orD.

5. Use only Black/Blue ball point pen to mark the answer by filling up of the respective
bubhbles completely. : .

6. Write question booklet number and your roll number carefully in the specified locations
of the OMR Sheet. Also fill appropriate bubbles.

7. Write your name (in block letter), name of the examination center and put your
signature (as is appeared in Admit Card) in appropriate boxes in the OMR Sheet. -

8 The OMR Sheet is liable to become invalid if there is any mistake in filling the correct
bubbles for question booklet number/roll number or if there is any discrepancy in the
name/ signature of the candidate, name of the examination center. The OMR Sheet may
also become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the
candidate will be the sole responsibility of candidate. :

0. Candidates are not allowed to carry any written or printed material, calculator, pen, log-
table, wristwatch, any communication device like mobile phones, bluetooth etc. inside
the examination hall. Any candidate found with such prohibited items will be reported
against and his/her candidature will be summarily cancelled.

10. Rough work must be done on the question booklet itself. Additional blank pages are

" given in the question booklet for rough work.

11. Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

12: This booklet contains questions in both English and Bengali. Necessary care and
precaution -were taken while framing the Bengali version. However, if any
diserepancy(ies) is /are found between the two versions, the information provided in the
English version will stand and will be treated as final. it

13. Candidates are allowed to take the Question Booklet after the Examination is over.

.

Signature of the Candidate :
(as in Admit Card)

Signature of the Invigilator :
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CHEMISTRY
Category-1 (Q. 21 to 35)

(Carry 1 mark each. Only one option is correct. Negative marks: -4) .

21. How many isomers may be considered with molecular formula C,HBr ?

C,H Br SR MRS 2206 TO BT FRCINR 223 ?

5 W ab @ 4 - (®) s © 6 ) 17
:“\\\\ : 22. Which is not the proper reagent for the conversion of glucose to gluconic acid ?
(A) Br,, H,0O : (B) Tollens’ reagent
o | (C) Fehling’s solution - (D) "HNO,4
- AT grers Qe Jraifee SiBie FAEwER @ i [N 77 ?
(A) Br,, H,O (B) Tollens’ reagent
(C) Fehling’s solution (D) HNO,

28. Which of the follow*.ihg diagram correctly describes the change of surface
tension against concentration for a miceller solution ?

PE 7
v =5 : v _
A ‘—ﬂ/ ®) o\
' LEME B - | CMC
. Conc. ; Conc.
Vv BP
(&) = _ (D) (S
| CMC - . IEMC
. Conc. ¥ _ -~ Conc.

24, For the reaction 2A + B —= 2C, AG®° (500 K) = 2 kd/mole. Find the equilibrium

constant for the reaction A + %B =C

2A+B—\zCﬁﬁFﬁﬁaG“tﬂam“'TmOKWWEkamoleI A+-—B——*C

RifRPaTa STy 455 @ W i . _
(4) 0.950 (B 0.786 (C) 0.565 D) 0.0786
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25, An electron moves in an electric field with K.E. 2.5 eV. What is the associated
de Broglie wave length ? _
G5 BT8R BTt el 2.5 eV | BeT3a de Broglie SRHMINA N7 F© ?
(A) 7.75A- ©  (B) 750 A ©) 795 A D) 7.40 A
26. For the isothermal reversible expansion of an ideal gas , which is correct ?
(A) AH>0andAu=0 (B) AH>0and Au<0
(C) AH=0and Au=0 (D) AH=0and Au>0
S SITTTA STOI “RIRS TSI (It 1o ?
(A) AH>0432Au=0 (B) AH > 0932 Au<0
(C) AH=04R Au=0 M) AH=0493R Au>0
27. At room temperafure HCl is a gas while HF is a liquid because —
(A) of a strong bond between H and F in HF
(B) HF is less acidic as compared to HC/
(C) HCI is less acidic as compared to HF
(D) of strong intermalecular H-bonding in HF
q@d TSRS i@ HOL sy @ HF waet 3179 -
(A) H 8 F Q7 Ny e 35w
(B) HC! 4z wetwt HF 3 e
(C) HF 97 wstsst HO! 39 wiife
(D) HF q e srsssie gEmse s Safths
28, Which one of the following species is not isoelectronic with CO ?
CO 97 M FEI0 SBCTRETTG AP T —
@ N, (B) CON- © No- (@) oy
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29, ' The correct order of acidic cHaraéter'is

ST BRIAR AT T Ze1
(&) Al0;>MgO>8i0,>P,0,,  (B) P,0;,>ALO,>MeO >Si0,

(© P,0,,>8i0, > A0y > MgO D) Si0, > P,0,,> ALO, > MgO

SOI. The common oxidation state of the elements of lanthanide series is

AEFRS @ Gt TEe Suaet 722yt 575
AR (B) +3 C) +4 D) +6

31. Selec‘ﬁ the incorrect statement :
(A)  GCu(l) is diamagnetic while Cu(Il) is paranlaagnetic'
(B) [Ti(H,0)g]%" is coloured while [Se(H,0)4]%" is colourless.

(C) Ionisation energies of 5d-elements are greater than those of 3d and 4d
elements.

(D)} Transition elements connot Tomn complexe.s

& gt wise w2 _

(8) Cu(l) == RoATweIm 93 Cu(ll) Z&1 *HIGTPR

(B) [Ti(H,0)6]** ze1 21% 8 [Se(H,0),]%* 3R

(C) 3d 932 4d TN S 5d GTEATE ST *15 @5
(D) ARoS Ger SfBa @er s1dey AT i@ 7t

32. The correct valence shell electronic configuration of the element with atomic
number 22 is

1T GTICETA RTINS SR 22 2T O SIICeT=1 CICeTa 3115 Beerae Rty a7
A) [Ar] 45?342  (B) [Ar] 34 @ [Ar] 8d24s> (D) [Ar] 4e%4p>

: A,
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' 33. The correct order of the' rate of acid-catalysed dehwdra.tlon of the given

isomeric aleohols is :

WWW@%@W@WWWW%@%W

OH :
(A) I<II<III B) IlI<II< I (C) TII<I<II (D) I<III<II

34. The group isopentylis :

SIIRECAGIRE ATl 2o -
(A) CHy~CH,CH,~CH,-CH,— B) CHB—-CH—CHQ_—CH2~
' é}H3
CH, o8y
() CH,~CH,~CH-CH, (D) HE-€-CH—
i,

35. The order of boiling points of the following compounds are :

e distefem o @5 22 :

OH OH
. . i ]
CH,CH,CH,CH,0H CH,-CH,-CH-CH, CH,-C - CH,

_ . I
! I1 ITT CH,

Ay s 11 T e B) oLl L0 (€)1 el T T
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CHEMISTRY
Category-2 (Q. 36 to 40)

(Carry 2 marks each. One or more options are correct. No negative marks)

36. O e ©>o
The above co-m-fersion can be carried out by wﬁich of the following reagent(s) ‘?
fae @ KR a1 SorIe Fewa(t 96T IR ?
(&) () Cly, H,0 (HOCL), (ii) Base (OH")
(B) m-CPBA
(¢) H,0,/0H

(D) Peroxybenzoic acid

37. Consider the following ionization steps :
M(g) —> M(g) + ¢7; AH = 100 eV
M(g) —s M2*(g) + 2¢=; AH = 250 eV

Select the correct statement(s) —

(A) (IE)I]_ of M(g) is 100 eV ~ (B) (E), of M*(g) is 150 eV
(€) (IE), of M(g) is 150 eV D) (E), of M(g) is 250 &V
e SRaTeIwR divalr Ao 93 ; '

M(_g) — M*(g) +e; AH =100 eV

M(g) — M2*(g) + 2¢—; AH = 250 eV

o Rafielt (sfr) fdisa va -
(&) M(g) 97 (IE), %1 100 eV (B) M(g)9d (IE), 3 150 eV
©) M(g) 97 (IE), T 150 eV D) M(g) 47 (IE), % 250 eV
JENPAS (UG) Paper-1 16 | % O
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38. Which of the following concentration term(s) is (are) independent of
temperature ! ?

mm(wm)aﬁﬁ(ﬂﬁ)@ﬂmﬁmﬁﬁ@wm?

(A) Molarity . , ‘ (B) Normality
(© Molality . ' (D) Mole fraction

- 39. Among the following, the extensive variables are

(A) H (Enthalpy) B) p (Density)
(©) E (Internal energy) (D) V (Volume)
frmaferiea Tey it waeers of '

(A) H (gFtEiat) B) p @)
© E(eresfe) D Ve

40. Which of the following reagerits can convert benzene to benzaldehyde ?

(A) CH4CN, HCI gas, anhydrous ZnCl,

(B) CO,HCIgas, anhydrous AICL,
0

© H-O- 0C,H,

D) ) FefBr, (i) Mg/Ether (iif) HO(OC, JHY), (iv) HY/H,0
frferie @i Reeterasfer afemee @@m’%ﬁwmﬁwﬁ@ﬁ%‘c@mﬁm?
(A) CH,4CN, HCI styi, 4 ZnCl,

(B) CO, HCI sy, 4t AICL,

-
© H- t|3—002H5 . _
(D) (i) Fe/Br, (ii) Mg/ZaT (iii) HC(OC,Hy); (iv) HH,0
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